

نام و نام خانوادگی پاسخنامه تشریحی تکلیف شماره کلاس / /
 نام و نام خانوادگی پاسخنامه تشریحی تکلیف شماره کلاس / /

تابع هست $y_1 = y_2 \Rightarrow y_1^2 = y_2^2 \Rightarrow 2x^2 + 2x - 1 = 2x^2 + 2x - 1 \Rightarrow y_1 = y_2$ (الف)

تابع نیست $\frac{\partial}{\partial x} = \frac{y}{\cos y} \Rightarrow x = \frac{y}{\cos y} \Rightarrow y = \left(\frac{x}{\cos x} + \frac{\pi}{2} \right)$

تابع هست $\frac{x^2 y^2 + 2xy}{x} = xy \Rightarrow x^2 + y^2 - 2xy = 0 \Rightarrow (x-y)^2 = 0 \Rightarrow x=y$

تابع هست $x(y^2+2) - y(y^2+2) \Rightarrow (y^2+2)(x-y) = 0 \Rightarrow y = x$

$|x-1| > 2 \Rightarrow \begin{cases} x-1 \geq 2 \Rightarrow x \geq 3 \\ x-1 \leq -2 \Rightarrow x \leq -1 \end{cases} \Rightarrow f(x) = \begin{cases} 2x^2 - b & |x-1| \geq 2 \\ a + 2x & -1 \leq x \leq 1 \end{cases}$

$\Rightarrow 1-b = a-2 \Rightarrow a+b = 1$
 مشترک در $x=1$ بازه $\Rightarrow$ عطف یکسان $\Rightarrow$ چون تابع

$-x^2 - bx + a \geq 0 \Rightarrow \frac{b}{a} \Rightarrow m(x-b)(x-a) \Rightarrow m(x^2 - (a+b)x + ab)$

$\Rightarrow -x^2 + (a+b)x - ab \Rightarrow ab = a \Rightarrow b = 1$

$a+b = -b \Rightarrow a = -2b \Rightarrow a = -2 \Rightarrow a+b = 2+(-1) = 1$

$ax^2 + bx + c \Rightarrow \text{بازه} \Rightarrow (a=0) \Rightarrow \sqrt{bx+c} \Rightarrow bx+c \geq 0$

$bx \geq -c \Rightarrow x \leq \frac{-c}{b} \Rightarrow \frac{-c}{b} = 2 \Rightarrow -c = 2b \Rightarrow c = -2b$

$2a + (-3|b|) = 0 + (-2b) - 3(-b) = -2b + 3b = b$

الف) $|x| - [x] \neq 0 \Rightarrow |x| \neq [x] \Rightarrow (x \neq \mathbb{Z}^+ \cup \{0, 2\})$

$\Rightarrow Df = \mathbb{R} - (\mathbb{Z}^+ \cup \{0, 2\})$

ب) $\textcircled{1} \rightarrow x \geq 0 \textcircled{2} \sqrt{y} = 9 - \sqrt{x} \Rightarrow 9 - \sqrt{x} \geq 0 \Rightarrow x \leq 81$

$\Rightarrow Df = [0, 81) \rightarrow Df = [0, 81]$

if. $\langle n \rangle \rightarrow \log_{\frac{1}{n}} \geq \dots \rightarrow \frac{1}{n} - 1 \leq 1 \rightarrow x \leq \frac{2}{n}$

الف) ① $2x-1 > 0 \Rightarrow x > \frac{1}{2}$ ② $x > 0$ ③ $\log_x^{2x-1} \geq 0 \Rightarrow 2x-1 \geq 1$

$\Rightarrow x \geq \frac{1}{2} \Rightarrow ① \cap ② \cap ③ \Rightarrow D = [\frac{1}{2}, +\infty) - \{1\}$ د ف: $(\frac{1}{2}, \frac{3}{2}] \cup (1, +\infty)$

ب) $\frac{1}{\sqrt{x+1}-|x|} > 0 \Rightarrow \sqrt{x+1}-|x| > 0 \Rightarrow \sqrt{x+1} > |x| - 1 \Rightarrow$
 $\Rightarrow \sqrt{x+1} = |x| - 1 \Rightarrow x^2 + 1 = (|x| - 1)^2 \Rightarrow x^2 + 1 = x^2 - 2|x| + 1 \Rightarrow -2|x| = 0 \Rightarrow |x| = 0 \Rightarrow x = 0$
 $\Rightarrow D_f = (-1, 1)$

$\Rightarrow b = -2 \Rightarrow f(x) = \sqrt{\frac{x+3}{x-2}}$ صورت $\Rightarrow y(0) \Rightarrow$

$\Rightarrow y \in \dots \Rightarrow a = -3$

$\Rightarrow f(x) = \sqrt{\frac{x+3}{x-2}} = \sqrt{\frac{1}{x-2}}$ b = -2 f(1) = 3

$f(x) - x + 1 \geq 0 \Rightarrow f(x) \geq x - 1 \Rightarrow f(x) \begin{cases} 2x-1 & x \geq 0 \\ x+3 & x < 0 \end{cases}$

① $2x-1 \geq x-1 \quad (x \geq 0) \Rightarrow x \geq 0 \Rightarrow x \geq 0$

② $x+3 \geq x-1 \quad (x < 0) \Rightarrow x \geq -4 \Rightarrow x \geq -\frac{4}{3}$

① $\cup$ ② $\Rightarrow D_g = [-\frac{4}{3}, +\infty) - \{0\}$ خبره می تواند در ادامه باشد.

$\frac{(18x^2 + 12x + 4)(x+1)}{(2x+1)^2} = \frac{3(2x+1)^2}{(2x+1)^2} = \frac{3}{2x+1} \Rightarrow 2x+1 \neq 0 \Rightarrow x \neq -\frac{1}{2}$

$\Rightarrow D_f = \mathbb{R} - \{-\frac{1}{2}\}$

① $2x-a > 0 \Rightarrow x > \frac{a}{2}$

② $1 - \log(2x-a) \geq 0 \Rightarrow \log(2x-a) \leq 1 \Rightarrow 2x-a \leq 10 \Rightarrow x \leq 5 + \frac{a}{2}$

$(b, c] \Rightarrow (\frac{a}{2}, 5 + \frac{a}{2}] \Rightarrow c - b = 5 + \frac{a}{2} - \frac{a}{2} = 5$